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QUESTION 1

You have received a Marvis Actions Missing VLAN notification. 

In this scenario, where is the problem? 

A. The gateway is missing the VLAN. 

B. An access point is missing the VLAN. 

C. A client is missing the VLAN. 

D. A switch is missing the VLAN. 

Correct Answer: D 

Reference: https://www.mist.com/documentation/what-is-marvis-actions/ 

 

QUESTION 2

What are two functions of Mist Radio Resource Management (RRM)? (Choose two.) 

A. transmit power control 

B. WLAN scheduling 

C. channel assignment 

D. Ethernet configurations 

Correct Answer: AC 

 

QUESTION 3

Click the Exhibit button. 
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Referring to the exhibit, in the USA, which two statements are correct? (Choose two.) 

A. The WLAN with SSID Eero1234 is not configured to industry best practices. 

B. The WLAN with SSID Eero1234 is configured to industry best practices. 

C. The WLAN with SSID NETGEAR24 is not configured to industry best practices. 

D. The WLAN with SSID NETGEAR24 is configured to industry best practices. 

Correct Answer: AC 

 

QUESTION 4

Regarding the seven layer OSI networking model, which two layers are different between Ethernet and Wi-Fi? (Choose
two.) 

A. media access control (MAC) sub-layer 

B. network layer 

C. logical link control (LLC) sub-layer 

D. physical layer 

Correct Answer: AD 

 

QUESTION 5

Which two events are displayed under the Client Events area found on the Insights page? (Choose two.) 

A. Reassociation 

B. Restart by User 

C. Reflection (Loop Detection) 
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D. DHCP Denied 

Correct Answer: AD 
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